OREHAHIHEDHEHED N RILFMERIRFHHER
3. BHEIR (HRFE - IFNREE - RE - BEEK) HOKF (HER)

x3—2 HWERRH

(1 /18R—3)
HRYE HEH & (kg/ 5 ; 47 1149V $RIdmg-TEQ/ ) R L
A= (EEHE)
18 B B a5t A B
= g%igg 3%?%%$¥¥E%’é REE BEN A NE (%&HE) HHE HEH &
1 [ESRDKAMLEEY 200 2 4853 5055 96% 4%
279 )ILTFT IR 1 0 1 23% 77%
7o) IILEET FIL 8 252 7 967 1235 78% 22%
A7V VIVBBR T ZDKAME 26 11 36 30% 70%
5|7 )IEE2 — (UAFIVFI)) TFIL 252 7 260 - -
67O )IEE2—EROFSTFIL 0 0 0 0% 100%
N7 o )IEE = —TFIL 55 2686 2741 98% 2%
8|7V )ILERXFIL 0 252 7 325 585 56% 44%
olroyo=rYI 0 95 35 130 27% 73%
0|l7roL4>v 72 307 4072 4452 - -
NFZIr by L 0 0 - -
2|7 M 7ITER 86 331 1690 23718 25824 150 25974 1% 99%
13|72 r=kYJL 155 21 1254 1430 88% 12%
5|72+ 757> 4 4 - -
16[2, 2" —7VYERAYTFO=rYJ)L 0 0 0 0% 100%
187—UV 0 33 33 100% 0%
2012—73I/)T5)—I 27526 16239 43765 721 44486 2% 98%
225—7\/—1—[2 6—Yvo0—4— (h 38 0 38 - -
JoLAOAFL) 7z=0] Z3->TF7 /-4
— [ (MYZAOXFIV) RILT1 =] ES
V=)L (Bl&7470=)
A9 =FI/)7x/)—) 0 0 - -
2911 —7YILAF>—2, 3—TREXSFONRY 2 0 2 0% 100%
|EHETINFIRVEVRIVEVBERTZEDE (7 21496 4020 29489 55005 7 55012 0% 100%
LWFIEDREZHN 1051 4FTOEDORY
ZTDREWICES, )
MNTZUVFEVRUZDLEY 200 0 200 0% 100%
RNT7TESEY 0 6 6 100% 0%
33| 0 0 - -
HEHREE : SM03EE




OREHAHIHEDHEHED N RILFMERIRFHHER
3. BHEIR (HRFE - IFNREE - RE - BEEK) HOKF (HER)

x3—2 HWERRH

(2 / 18R—Y)
HRYE BEH & (kg/5E; 9" 144y V48 Idmg-TEQ/ ) Bt
BHAHEHE (#EHE)
18 ML RiguE &t R
5 gﬁégg 3g?§§§ . BENE N (55HE) HHE =
¥[3—AYVYTFIAFIL—3, 5, 5—rJAF 1 1 19 20 97% 3%
ooanEoi=AYY o F7Ex—h

36l4VTL Y 2677 2677 2677 - -

3714, 4 —qv7oEYFvY7z/—) (B4 2 2 0 2 0% 100%
E27x/—JLA)

W1y 7AaEL=2— (4—A I FYETZzZI— 60 60 60 - -
%—1¢)KP59/$»7—F(%%E7IT

437 —qyFaRFT—2—-N)T7)AOXFI 213 213 213 - -
RYZXF7=YR BIZZILEZZIV)

R2—AIFIIVIVFHY 1 1 1 - -

444 2 oY ARUZ DILEN 0 0 0 - -

plrFI=2—-[4— (6—OA—2—-F/FY% 329 329 329 - -
DZ)LA*xy) 72z /F%2] Foed+—b (Bl
23Xy 0OKRy TTFI)

47/0—xF)L=0— (6—=hrO—X&—K1JJ) 67 67 67 - -
=thHVF ) —TFIVEKRAKIVTZ I RFAT7— b
(B THIKR)

8O—TF)IL=0—-4—=—pbOT7xz=)=T7xT=)L 4 4 - -
KRR/ FAF7—H (BIRZEPN)

9N— (1 —xTF)FOEIL) —2, 6—-=kO 582 582 582 - -
=3, 4—F2UIY BIERYTA4AIYY)

50|S—TFI=~AFxHbRO-1TH-T7EEY—1 16 16 16 - -
—ANKRFAT—K (BIZEY R—B)

51{2 —TFILAFH UER 36 36 12 48 25% 75%

52|TF)= (Z) —3— (N=RYIIJI—-N-— {[ 40 40 40 - -
AFIN (V1 =AFVFAIFI)TVTI/FFY
HIVKRZI) 7X/] FF4Y 72/) FOEF+
— N (BIZT7S=HILT)

BI|TFILRVEY 37546 12262 6506 49026 105340 454246 559585 81% 19%

4|0 —IFIN=S—1—XxF)TFOEIL= (2~ 98 98 98 - -
X¥Y-—3-FFVYUIZN) KRN FAT—h
(BIBHRAFFTE—HN)

56|TFLVvAFUR 832 832 1 833 0% 100%

HEHEE : SM03EE




OREHAHIHEDHEHED N RILFMERIRFHHER
3. BHEIR (HRFE - IFNREE - RE - BEEK) HOKF (HER)

x3—2 HWERRH

(3 / 18R—%)
HRYE BEH & (kg/5E; 9" 144y V48 Idmg-TEQ/ ) =45 d
BHAHEHE (#EHE)

18 ML RiguE &t wb | BiHg
; EREE | MM | e | mwe | aw | W e
57|lTFL S )I—)LE/ZTFII—FI 520 0 0 520 2259 2779 81% 19%
B8|TF L YaA—IE/AFIIT—FI 42 42 531 573 93% 7%
BITFLYITIY 0 0 2 2 98Y% 2%
6O|lTF L vI7 3 v uEEE 84 7 91 11 102 11% 89%
1IN, N’ —TFLYER (¥FFHIINIVEE) 150 150 150 - -

7/73/ (Blg~>xRT)
62|N, N’ —I%bzt}(&%#b»wsyﬁ) 840 840 840 - -
TYHVEN, NN —ITFLYER (VFFHIL
RIVB) @ADL (RE<YIE T
v )
63[1, 1" —TFLv—2, 2’ —EEYY=ILA 123 123 123 - -
=U7Aa3IRK (&I I/T7 NI TAOIRETY
7y N)
42— (4—IThFP7x=)L) —2—XF)7O 820 38 858 858 - -
EL=3—-TJz /%I RUIIIT—FII (BIE&T
koxzo7OvoR)
5|l ooke Ry v 0 0 182 182 100% 0%
%;,2—1ﬁ$97uﬂ>(%%@&7ﬂ8b) 0 0 0 0 0% 100%
69|12, 3—TRF IO =Jx=)LT—FI) 0 0 - -
7017%0%/kE§Mﬁ(%%17X0%/B1 10 10 10 - -
aRBEBMERVIVAIF VB 1 bREEME
DEEY)
gL E =8 0 0 0 0 0% 100%
BV —=F5%5)—) 0 0 0 0 0% 100%
TANRZ—F o9 FILT7 /=) 0 0 0 0 0% 100%
BARIVLARVZDIEEY 11 11 4 15 25% 75%
I A=y A VN 5 5 4 9 46% 54%
80[F L v 50433 27742 7422 190121 275718 657822 933540 70% 30%
e 0 0 0 - -
828R R U Z DAL &Y 28 28 0 28 0% 100%
83|17 A 614 970 1584 6725 8309 81% 19%
HEHEE : SM03EE




OREHAHIHEDHEHED N RILFMERIRFHHER
3. BHEIR (HRFE - IFNREE - RE - BEEK) HOKF (HER)

x3—2 HWERRH

(4 / 18R—Y)
WRYE HEH B (ka/ & ;5" 1449V 4HIEmg-TEQ/ ) Bt
BEEAH = (HEEHE)

18 ML RiguE &t R
5 gfégg 3%9%%%%@; . BENE N (55HE) HHE =
84|47 ) A xH—IL 0 0 0 0 0% 100%
85| HILTILTE R 28 28 28 - -
86| LV—IL 3 12 51 66 905 971 93% 7%
87|/ 0 ARV=(HZ O ALEY 48 0 48 39 87 45% 55%
88|57 O LA 1 1 7 8 87% 13%
9|2—sO00—-4—IFIFI/—6—4q4Y7OF 176 176 176 - -

VWF72/—=1, 3, 65=hY7YY (BET7 IS
JV)
91|12— (4—»O@—-6-—-TFILF7I/—1, 3, 2 2 2 - -
5-RKNYF7IU—=2—=4J)V) PI)—=2—XF)L
Javx/=r)) BIE&ITFTV)
R4—s00—-3—IFI—1—XFJ—N-— [4 60 60 60 - -
- (/\7I\U)l/7r$/) NyIN] ESY—IL—
5—AILARFHIRN (BHMLTZZVESKR)
93|12—sOE—2" —IFIL—-N— (2—XFFY 1339 1339 1339 - -
—1—=XFIITFI) —6 —XAFIFEIrT7=
R (BIZXNS7O—))
UlryooxzFL v (AILEEE=ZIL) 1 1 1 - -
95|13 —sO00—N— (3—4/O@A—-5-—kY )% 172 85 257 257 - -
OXFI—2—-EYII) —=FIVT7, PILT7
, PIL77z—=RKNYo)lA4AO—-2, 6—-=hkO-—
INS=NMILAPY RIRTZIVT VL)
9%|1— ({2-[2-yO00-4- (4-»O07 61 61 61 - -
I/ﬂF/) Jx=)] —4—XFI—1, 3=%
FFYSV—2—A} AFI) —1H—‘1 2
L A—RNYFY— REZT T aFT—))
100|12—so0—2" , 6 —YIFI—N— (2— 1521 1521 1521 - -
TARFIIFI) FEINTZZUR BIETLF
S a—)b)
10112—s00—-2" , 6 —JITFI—N— (Xb 1428 1428 1428 - -
)=\=/><%)l/) FEM7ZUK (BI&7Z70-)L
103|11—200—1, 1=y7)40x49> (Bl&H 996 270 2554 3820 3820 - -
CFC—142b)
HEHEE : SM03EE




OREHAHIHEDHEHED N RILFMERIRFHHER
3. BHEIR (HRFE - IFNREE - RE - BEEK) HOKF (HER)

R3—2 FEEFER
(5 / 18R—3)

HRYE BEH & (kg/5E; 9" 144y V48 Idmg-TEQ/ ) =45 d
BHAHEHE (#EHE)
18 ML RiguE &t R
5 gfégg 3%%%@%@ . BENE N (55HE) HHE =
104y 7)LA0x9 > (JIEHCFC—22) 2543 7241 1187 10971 10971 - -
108 (RS) —2— (4—svoOO—-A)I k=KL 1411 1411 1411 - -
¥v) FOAVEE BEXxa7Oy )

M3|12—s00—4, 6—ERX (ZFILTI/) — 1 3 3 - -
33,5—hu7§y(%%979ymeAT

M4l (RS) —2—[2— (3= OA7z=)) — 34 34 34 - -
2, 3—xR*>FOENL] —2—IFNLAVH
V=1, 3=UFY RIEAVY/T77V)

1154 — (2—4007x=)L) —N—=40O~FY 877 877 877 - -
W=N—-IF)—4, 5-YcRO-5—FFV
—TH=FKrSY—=IL—=1—HILKRFH IR (B
ZITJTVRSHINR)

116 (4RS, 5RS) —5— (4—s0OQ7zxz=)lL 10 10 10 - -
) =N=YJO~NFYI—4—XFI—2—FF
V=1, 3=FF7YIVIY—=3—HILRFHYINK
(RIEANXFTYVHIR)

M7 (RS) —1—=-n5—s0O07z=/)L—4, 4— 362 362 362 - -
CAFIN—3— (1H=1, 2, 4—KYF7J—
W=1—ANAFIN) RY V=3 =F—)L (5l
&5 73+ —))

18|2— (4—so0B7x=)) —2— (1TH-1, 10 0 10 10 - -
2, 4=NYTZYV—=Ib=1 =L AFI) ~FH
MY BB THYZI)

119 (RS) —4— (4—vOoAO7z=)l) —2—7 44 44 44 - -
T=l=2—= (1H=1, 2, 4=hY7PJ—)L
—1—=4JAFI) TFO=rYIL (BIET Y
Ja+ryJ—))

124|1 — (2—Oa~RvyIIL) —3— (1 =XF) 63 63 63 - -
;1—71:»1%»)ﬁb7(%%bswuy

12517 oAy Ey 247 392 639 120 759 16% 84%

meaFu&y97wtu19>(%%CFc—11 6 6 6 - -
5

127|270 kIiL A 344 75 308 727 410 1137 36% 64%

BRHFE : SH03FE



OREHAHIHEDHEHED N RILFMERIRFHHER
3. BHEIR (HRFE - IFNREE - RE - BEEK) HOKF (HER)

x3—2 HWERRH

(6 / 18R—%)
HRYE BEH & (kg/5E; 9" 144y V48 Idmg-TEQ/ ) Bt
BEEAH = (HEEHE)

18 ML RiguE &t R
N HRREE | MR Rz B Erf Nt e . .
132]3/N)L s RUZDILEYD 209 0 0 209 2 210 1% 99%
1332 —ThFoTFI (RIGTFL YY) O— 431 431 1343 1774 76% 24%

VWE/IFINI—FITET—h)
134|EeBe E =L 536 188 12 737 10008 10744 93% 7%
1362 — A FoTFIL (BIETFLYS)O— 160 160 - -
WE/XAFINI—FTITET—N)
137|>7+ 3 K 4 4 4 - -
1391 (S) —FILI77—SF7/)—3—T7x/)FIRY 1 4 6 6 - -
Y= (1R, 38) =2, 2—=IXF)—3—
(1, 2, 2, 2—=Fh>78FETFI) >0
)7°|:|/\/j3)lu'J'\=\=/7 M (B rSOX K>
140 (RS) — PN T 7—>F/)—3—-T1/)F%FIN 0 2 3 3 - -
vIN=2, 2, 3, 3—-FrhSXFLIHIOTS
1:1;\"*/73»/7%‘#95 N (Blg7z>7O/shYy
v
ISV R=—1— (2=YT)—2—XAF*13 48 48 48 - -
/7;271») —-3—-IFNILT BEAVEFY
=)
14314, 4’ =73 )9 7x=)LT—FI) 0 0 - -
144 ;ﬂ%/ ta¥ GEERUVY 7 VEBEEIR<, 41 122 163 10 173 6% 94%
1452 — (TFITI)) TH)—) 160 160 - -
147IN, N=YIFIFAAINIVES—4—70O 14372 14372 13 14385 0% 100%
D;;9N(%%??Nyﬁw7XMN>?Tﬁ
148N, N—=<ITFIL—3— (2, 4, 6 =K AF 849 849 849 - -
W7 Z)VR)ViRZ)) —1TH—1, 2, 4—F
Y7V —=Ib—=1—=HAIERFHIRK BIE&HT7
2 hOo—JL)
149|MmiE1b ik 3= 0 0 1 1 91% 9%
150|1, 4—SAFHY 50 50 4 54 7% 93%
15111, 3—=YFFVYSYv 248 248 - -
HEHEE : $F03EE




OREHAHIHEDHEHED N RILFMERIRFHHER
3. BHEIR (HRFE - IFNREE - RE - BEEK) HOKF (HER)

x3—2 HWERRH

(7 / 18R—%)
HRYE BEH & (kg/5E; 9" 144y V48 Idmg-TEQ/ ) =45 d
BHAHEHE (#EHE)

18 ML RiguE &t R
5 gﬁégg 3g?§§§ . BENE N (55HE) HHE =
1521, 3—YAIMNESAILFA—2— (N, N=% 732 732 732 - -

AFINTI)) —7any (BIEANLS Y F)
183 oOnFH—1 -V -1, 2-IHLEF 6 344 350 350 - -
L3FAFIL= (1RS) —¥2— hSvz2-2
, 2=IAFII =3 = (2—=XF)LTO/NR=1—
I=)L) vyra7anvalREsS—k (Bl
FRhSXNYY)
155|N— (7 a~xIILFH4) 2943 R 4 4 0 4 0% 100%
157|1, 2= oQxT¥d> 66 66 3 69 4% 96%
1%;,1—&9Du1%by(%%ﬁma:u?y 13 13 - -
159> 2—1, 2—<sOQTFL Y 26 26 - -
16013, 3' —ysvnoOo—4, 4’ —-Y73I/)97zx 7 7 - -
ZIAY
16170y olAaXx89y (AIELCFC—12) 1525 301 2395 968 5189 5189 - -
162|3, 5—<2o00—N— (1, 1=YXF)I—2 964 964 964 - -
;TDE:»)NyXTEP(%%juﬁﬁSP
1642, 2—vooO@—1, 1, 1—KYz)40Ox 184 409 593 593 - -
5> (IZELHCFC—123)
168|3— (3, 5—<spOQ7z=)l) —N—a4VY 7 137 137 137 - -
AEL—2, 4-IFXVYALIFY IV —1—
AIVAREH IR (B4 7OvF V)
169]13— (3, 4—Ysom7z=)l) —1, 1= 1 1948 1949 1949 - -
XFIERE (BlE&YyarXiEDCMU)
170l (RS) —2— (2, 4—> 007z =)L) — 9 2 12 12 - -
3— (1TH=-1, 2, 4= NYF7YV—I—1—4
JV) Z7aEi=1, 1, 2, 2—=FrK>7)L40
IFI=T—FI) BE&T+Z3F+YV—I)
HEHEE : SM03EE




OREHAHIHEDHEHED N RILFMERIRFHHER
3. BHEIR (HRFE - IFNREE - RE - BEEK) HOKF (HER)

x3I—2 HEFER

(8 / 18R—Y)
HRYE BEH & (kg/5E; 9" 144y V48 Idmg-TEQ/ ) =45 d
BHAHEHE (#EHE)

18 ML RiguE &t R
; BN M| ose | omee | oaw | O R
1711 (2RSS, 4RS) —1—[2—- (2, 4= 1009 1009 1009 - -

ogo7z=Jl) —4—-7O0ENL—-1, 3—-4F
YSY—=2—=AAFIN] —1H=1, 2, 4—
FNYZ7Y—ILERU (2RS, 4SR) —1—[2
— (2, 4—vyyOO7zz=)V) —4—-70ENL
=1, 3=UFFVYSIU-2—-A)LAFI] =1
H=1, 2, 4= N)7YV—-ILDREY (Bl&T
aE3I+v—J)
172|3— [1— (3, 5—=ysO@7z=JL) —1— 502 502 502 - -
AFIITFIL] —3, 44—k RO—6—XFI
—5—-71=JL—2H—-1, 3-FFHI -4
-4V (BIEAFHTIOXKY)
174|3— (3, 4—<sO07xT=)L) —1—XK* 6586 6586 6586 - -
=1 —XFIRHE B&)=20V)
175|2, 4—<vson07x/ o8 (Bl&2, 4— 2204 2204 2204 - -
DXix2, 4—PA)
176[1, 1—<s00—1—-7)40xT% Y (BILH 3823 658 6221 10701 10701 - -
CFC—141b)
178{1, 2—=vson7 /sy 8 8 8 - -
179]11, 3—<vson7 ARy (B&D—D) 2231 2231 1 2232 0% 100%
181lyryoanv ¥y 20 129 64845 64994 64994 - -
18212 - [4— (2, 4—=yyaORyYq)) —1 80 80 80 - -
, 3=UAFI—-5-ESYYLFFT] P
72/ (AERESVXITTV)
183|4 — (2, 4—ysoARvyYAIl) —1, 3— 1770 1770 1770 - -
IXAFIN=5-EFVY)=4—-NLIVRIK
+—k (BIEESYL—1)
184|2, 6—vsoa~RvyYy=rYJ (BlETrAONR 712 712 712 - -
ZJIXIZFDBN)
m5§ggu¢y&7»#n7umy(%%HCFc 211 211 211 - -
— 5
186|700 X% Y (BIEEIEXFL V) 22596 22596 146593 169189 87% 13%
18712, 3= 7 /)—1, 4=SFF7FPVRSX) 672 672 672 - -
v (EIFT V)
188N, N—U s oanFIINT IV 0 0 3 3 99% 1%

BRHFE : SH03FE




OREHAHIHEDHEHED N RILFMERIRFHHER
3. BHEIR (HRFE - IFNREE - RE - BEEK) HOKF (HER)

x3—2 HWERRH

(9 / 18R—=%)

HRYE HEH B (ka/ & ;5" 1449V 4HIEmg-TEQ/ ) Bt
BEEAH = (HEEHE)

18 ML RiguE &t R
; EREE | MM | e | mwe | aw | W e
189N, N=SooOnxo)—2-—~RVVFF7Y— 0 0 - -

WA TTVT IR
19|vrrsaRvyTTy 0 0 0 - -
19111, 3—YFASv—2—qYFreOviEs4a 700 700 700 - -
vfut»(%%4v7u%15/)
15| FAYAEO—2, 4—-0O007z=)L—0 685 16 701 701 - -
—I%»—S—TDE»(%%TD%#$X)
196|CFAYABES— (2, 3—YeRA=-5—-%h 316 316 316 - -
¥ —2—-FAFY—-1, 3, 4=FF7IFTYI—I
=3—=qJ) *FI =0, O—=IXFIL (BI& X
FEFFURIEDMTP)
197|F A4 Y ABEO, O—UAFJI—S—1, 2—F 170 170 170 - -
2 (ZhFVHILRZIIL) TFIL BIEISTY Y
RIETSFA V)
22| RV EY 3 3 - -
203|773V 0 0 0 - -
205(1, 3=z F7=ov 0 0 0 0 0% 100%
206|N—CTFINTI)FA-—N=—XFIHINIY 3 3 3 - -
B2, 3—vkebRO—2, 2=YXFI—7-—R
vV [b]l 725=Z)b (BIBAHIKRRIL T 7V)
207|2, 6—S—9—2vY—TFI—4—-HLYY— 5 28 17 49 0 49 0% 100%
L
200y JmEsODOXA S Y 171 21 94 286 286 - -
212| (RS) —0, S=YXAFI=FEFIKRAKIL 942 291 1233 1233 - -
P7IRFFT7—b (BI&T7ET7T—H)
213|[N, N=SXFIPERT IR 302 302 22338 22640 99% 1%
216|[N, N—I XFI7=1) v 0 0 0 - -
217|156 =S XxFIF7I/—1, 2, 3= YF7Y ( 50 50 50 - -
NEFH IS5 L)
18| X FIT IV 3 3 0 3 0% 100%
HEHEE : SM03EE




OREHAHIHEDHEHED N RILFMERIRFHHER
3. BHEIR (HRFE - IFNREE - RE - BEEK) HOKF (HER)

x3—2 HWERRH

10 / 18=R—30)

HRYE BEH & (kg/5E; 9" 144y V48 Idmg-TEQ/ ) Bt
BHAHEHE (#EHE)

18 ML RiguE &t R
; EREE | MM | e | mwe | aw | W e
22112, 2—=YXAF)—2, 3=YkRO-1-—RY 106 106 106 - -

V75 —T—A)L=N— [N— (2—T phF>
AIKRZIITFI) —N—A4YFAOEILRILT T
FEAN] —N—XFJLAINRT—F (BlE~RY
75hIVT)

224N, N=SXFIRFUNTIV=N—FFI R 362 483 5055 5900 0 5900 0% 100%
25| X F)=2, 2, 2—KYysOoOo—-1—-k kRO 105 105 105 - -

FOIFIKRRABRFT—F (BI& RN 78ILEFVX
I£DEP)
27|11, 17 =UXFI—4, 4 —EEYI=oL 65 65 65 - -
=4Oy R (EU%/\7ZI— (4> VAG2u Eul O
28 K)

MBS,S'—zX%»t?::»—4,4 -4 0 0 - -

=4y 7 xr—b
20| X F)=4, 4 — (AW b—T1=LV) E 994 0 994 994 - -
2 (3=547077+—K) (ME&FFT77x
— kXFIL)

230|IN— (1, 3= AFITFI) =N —2x= 0 0 - -
W=—IRS—7z=L VIV

232N, N=S A FIRIVLT IR 7912 7912 26231 34143 77% 23%
233|12 — [ (PANFVRRT A/ FAAIN) F4] 124 124 124 - -

—2—JzZ )BT FI (IR 7zzv hI—b
XIEPAP)

234|2% 0 0 0 - -
235 |2 REE D KA EIE 0 0 0 0 0% 100%
236|3, 5—YIA—KR—4—F V9 /AILFFIRY 30 30 30 - -

VMY BIETAFFZI)

237KEBRVZDILEY 19 19 2 21 9% 91%
239|542 XL & 4 4 0 4 0% 100%
240|2F L v 1897 313 0 11065 13274 85081 98355 87% 13%
22|z L V RUZDILEY 0 0 12 12 100% 0%
283|54 A ¥ V% 239.4818141|  71.58978422 0.31723539| 20.58843056| 331.9772642| 699.521361427|1031. 498625627 68% 32%

HEHEE : SM03EE




OREHAHIHEDHEHED N RILFMERIRFHHER
3. BHEIR (HRFE - IFNREE - RE - BEEK) HOKF (HER)

x3I—2 HEFER

(11 / 18R—=%)
HRYE BEH & (kg/5E; 9" 144y V48 Idmg-TEQ/ ) =45 d
BHAHEHE (#EHE)

) W L RiguE st B oa | B
5 gfégg 3%9%%%%@; . BENE N (55HE) HHE =
244|2 —FFF¥Y -3, 5=YXFIFrSERO- 6466 6466 6466 - -

E?—1,3,5—%7z79y(%%97x/
245|F 7 I3 0 0 0 0 0% 100%
248|F 4 Y ABBO, O—SITFIL—-0— (2—9qV S 2348 2348 2348 - -
OEL—6—XFIL—4—-EYIY=ZL) (Bl
AT )V)
250|F A4 Y ABBO, O—JITFI—-0— (5—Jz= 124 124 124 - -
»;3—4vt#vyu»)(%%4v##%#
v
B1FFYAEEO, O—IAFI—0— (3—XFJ 2910 201 3111 3111 - -
—4—-—=—kO7zz)V) BB Z7z=—bOFFV
XIEME P)
252|FF Y ABEO, O—IAFI—0— (3—XF) 36 8 44 44 - -
—4—XFNFATIZII) BTz VFAY
XIEMP P)
253|F A YABEBO—4—-—TJOE—2—007x=)L 40 40 40 - -
—P—I%»—s—juew(%%fu71/$
2
255|F7 A7 aEY 7= T—FI 1 1 1 - -
2565 H ik 1 1 0 2 3 5 57% 43%
257|177 a—IL (RIE&TH/ —I) 13 10 0 23 160 183 88% 12%
258|1, 3, 5, 7T—-F S7H¥RNYT O[3, 3 1 40 41 0 41 0% 100%
1.1 (3, 7)1 FThAY (BlaAFTAFL
VT hSIV)
29[F RSITFIFISALATRILT 4 R (BIETRIL 2 2 0 2 0% 100%
T4 T L4)
260|7 hNSoonoqyvyO=NYIL (BILIOO% 1166 131 1297 1297 - -
O=JLXIETPN)
2614, 5, 6, 7T—FbhZ7004YRYYI TSV 539 539 539 - -
—1 (3H) —FY BIZI7HS4K)
2627 S oo FL YV 1705 1705 2401 4106 58% 42%
265|7 RSk ROXFILEKT Y ILEE 0 0 - -

BRHFE : SH03FE




OREHAHIHEDHEHED N RILFMERIRFHHER
3. BHEIR (HRFE - IFNREE - RE - BEEK) HOKF (HER)

x3—2 HWERRH

12 / 18R—3)

HRYE HEH B (ka/ & ;5" 1449V 4HIEmg-TEQ/ ) WL
BEEAH = (HEEHE)

18 ML RiguE &t R
5 gﬁégg 3g?§§§ . BENE N (55HE) HHE =
266(2, 3, 5, 6—FhrST7IAO—4 —AFILAN 39 39 39 - -

vIN=(Z) -3—- (2—--0@m-3, 3, 3
—kNYyziAo-1-7arR=)) -2, 2-
AF)voaranvalREyS—8 BIET
28D )
%73,7,9,13—%#5%%»—5,11—9 79 79 79 - -
F¥H-2, 8, 14—-KNYFT7— 7, 9,
12—F K NST7HRVEHFTH-3, 12 oIy
-6, 10=UFY BIEFAIHILT)
2687 RSAFILFISLIRILT 4 K (BIEFIS 2 3360 3362 4 3366 0% 100%
LAXIEF S L)

270\ L 74 LB 0 0 0 0 0% 100%
2128AAGAMIE GEIEAR<, ) 49 49 998 1047 95% 5%
27311 — F)%“ja/—)l/ (BIL/ILIL— RFVILTIL 1 19 20 0 20 0% 100%

a—J)L

25| RV IVEREEF b U o A 6422 1236 10862 18520 0 18520 0% 100%

276(3, 6, 9—NUTFPHIVFAY—-1, 1 1= 5 5 0 5 0% 100%
TV (BT RSIFLIURVIIY)

77| N TFILT IV 294 294 44 338 13% 87%
28| TFLYTFRSIY 18 18 0 18 0% 100%
27911, 1, 1—kysoOoxTd>v 8 8 - -
280(1, 1, 2—hNUHOOTH Y 4 4 _ _
21|k sOOTFL Y 6192 6192 6202 12394 50% 50%
282(~ 1Y) 7 O OEFEE 4 4 4 - _
285l yoO=haxXS Yy (BlgoyooEsY V) 4295 4295 4295 - -
286 (3, 5, 6—kYysOO—2—-~FYIJ) 4% 9 211 220 220 - -

EFEE (Bl Y2 OEIL)
288| )OO 7iAOXS Y (BIZCEFC—11) 2981 565 5349 8895 8895 - -
291(1, 3, 5—hUYR (2, 3—xTRF>FOFIL 83 83 0 83 0% 100%
) —1, 3, 6—hYPJv—2, 4, 6 (1H
5 3 H1 5 H) — |\ U j-y
HEHEE : SM03EE




OREHAHIHEDHEHED N RILFMERIRFHHER
3. BHEIR (HRFE - IFNREE - RE - BEEK) HOKF (HER)

x3I—2 HEFER

(13 / 18R—3)

HRYE HEH & (kg/ 5 ; 47 1149V $RIdmg-TEQ/ ) MR L
FBHEABEHE (HEHE)

18 ML RiguE &t R
= g%igg 3%?%%$¥¥E%’é REE BEN A NE (5£5HE) HHE HEH &
28|77 NT v, PIVTw, PLIr—NY)ZlbAO— 3178 3178 3178 - -

2, 6=Y=kO—N, N=I7OEIL—/1F5—

ML4oY (BIBNYZILSY )
295[3, 5, 5=NUXFI—=1—=~FH/—) 0 0 - -
206[1, 2, 4—RNYXFIRVEY 12185 530 201 23983 36898 210315 247213 85% 15%
297|1, 3, 5= hUYXFIRVEY 5185 5270 843 15931 27229 71091 98320 72% 28%
28| LU TA VST R—b 3 3 245 249 99% 1%
29[ MLA TV 0 0 0 - -
300{ LTV 90354 33979 8201 324309 456844 1590242 2047085 78% 22%
302|ro5 LYV 933 1031 717 237 2918 2553 5471 47% 53%
30484 0 0 0 0 0% 100%
305)5p1k &4 65 65 59 124 47% 53%
306[=ZT I YIEBANFHXFL Y 0 0 12 12 100% 0%
308|= v )L 0 0 50 50 100% 0%
309|= v Lk &Y 712 712 246 958 26% 74%
pl=hOrREY 0 0 0 0 0% 100%
7|= kO XSV 0 0 0 - -
318|=HilbirE 0 0 0 - -
3200/ =)o/ =)L 0 0 0 16 16 100% 0%
21N F Ty siEY 51 51 0 51 0% 100%
32257 — [N, N—ER (2—7®FIFF>ITF 50 50 3 53 5% 95%

W) 72/] -2 — (2—-70%—-4, 6—-v

EB%?I:)L?‘/“) -4 —XpNFEOTENT
3232, 4—ER (ZTFIFI/)) —6—XFIFF 110 110 110 - -

-1, 3, 5— Y7y BIEXRYV)
325|ER (8—=F/1) /5 N) 88 (Bl F> VX 1974 1974 1974 - -

IS EHEH)
328|[ER (N, N=UXFIIFAFAINIVEE) B 1 1 1 - -

$H BRTSLH)

BRHFE : SH03FE




OREHAHIHEDHEHED N RILFMERIRFHHER
3. BHEIR (HRFE - IFNREE - RE - BEEK) HOKF (HER)

x3—2 HWERRH

(14 / 18R—3)

HRYE HEH & (kg/ 5 ; 47 1149V $RIdmg-TEQ/ ) MR L
A= (EEHE)

18 ML RiguE &t R
= g%igg 3%?%%$¥¥E%’é REE BEN A NE (5£5HE) HHE HEH &
330|ER (1 =AFN—1-TTZVIFIL) =R 2 2 13 15 87% 13%

FTEIR
331|S, S—ER (1 =xXF)L7AEIL) =0—IF 78 78 78 - -

I=FKRRAHEATFFT7—b (FlIEHXHKR)
3R2[MER VT DEEEEY 4 4 44 48 92% 8%
33| RSV 2 2 0 2 0% 100%
334[4 —E ROXFTLREFERAFIL 17 17 0 17 0% 100%
336l kOx/ >~ 3 3 0 3 0% 100%
339IN—F=)L—2—-¥OYy Ky 0 0 - -
MpRs5Ty 0 0 - -
A<D 1 1 0 1 0% 100%
M|EohFa—I (REHTFI—I) 0 0 - -
3462 — Tz =)o/ —) 98 98 98 - -
487 =L TFIY 191 191 0 191 0% 100%
3497/ — L 49 49 1333 1382 96% 4%
3/BO[3—Tx/FRUII=3— (2, 2—-240O 92 62 153 153 - -

A=) —2, 2=IXF)LooaTAnRVAH

IWRFIS—b BIBRILANYY)
351|1, 3—TH4T TV 179 360 10886 11426 11426 - -
3N(THIIEETT I 44 44 - -
BT IIEES — LI —TFIL 10 278 289 43 332 13% 87%
3B5[7HIIEEER (2—TFIAFII) 166 166 2720 2886 94% 6%
356|7 G IEE/IILTIL—TFIL=RUI) 4 4 10 14 69% 31%
BI2—49—v)—TFIA4I/-3 -4V 7O 78 49 127 127 - -

V=5—-7z=)FhSERA—-4H-1, 3,

5;%7§7§y— —-Fv (&7 o7zy
BEIN—4—> %) —TFI—N — (4—IFILN 20 20 20 - -

VYA I) =3, BE=IAFIRVYVERSTYR

BIETT7x/IR)
%9/&E»—7%»—2,3—1ﬁ#v7u8»1 0 0 - -

— T

HEHREE : SM03EE




OREHAHIHEDHEHED N RILFMERIRFHHER
3. BHEIR (HRFE - IFNREE - RE - BEEK) HOKF (HER)

x3I—2 HEFER

(15 / 18R—3)

HRYE BEH & (kg/5E; 9" 144y V48 Idmg-TEQ/ ) =45 d
BHAHEHE (#EHE)
18 ML RiguE &t R
5 gﬁégg 3g?§§§ . BENE N (55HE) HHE =
360|IN— [1— (N=JIL<IL—=TFFILAILNEAIL 470 470 470 - -
) —TH=2=—RYYVAIFJYJ] HILINZY
BXFIL (BB )

3B1|7FI=(R) —2—[4— (4—>F)—2— 953 953 953 - -
oNAOTT/FY) Jx/FY] FOEFF—
N (Bl /nOFRy TTFI)

362|1 —49—Y v Y—TFI—-3— (2, 6 -4V 50 50 50 - -
JOEN—4—-7x /)% T7x=)b) FHRE (
MES 77z FIOY)

363|5—9—YvY—TFI—-3—- (2, 4—-2/0 48 48 48 - -
A-5—4Y7OR*>7z=)l) —1, 3, 4
—FFxHYIF7J—I—2 (3H) —Fv (Bl&+A
FHITIV)

3644 —vv)—TFI=4— ({[ (1, 3—IUX 19 12 31 31 - -
FL—5—-7T/FS—4—-ESVYL) XFY
TV TI)AFYVY XAFI) RV T—h (B
27T vEOFIA—])
66|y — v ) —TF)L=k RORILAF R 0 0 - -
3684 —49—Tv)—TFILT /=) 0 0 16 16 99% 1%
370|12 — 49— v ) —TFI—-5— (4—49—> v 8 8 8 - -
—TFIRVINFA) —4—-s0A-3 (2H
) —BYST v (BB IRY)

MIN— (4 =9—=> v ) =TFIRVI))) —4 — 10 10 10 - -
JO00—-3—IFI—1—XAFIESY—)L—5
—HILEEHI RN RIETT 7z VESK)

IR2IN= (9= v )=TFI) —2=RVIFF7Y 4 4 0 4 0% 100%
— LA TTVT IR

374|353 2 (b KFER UV DKAME 2404 2404 2290 4694 49% 51%

3I6IN—=T hFUxAFJ—2—-y00—-2" , 6 — 791 791 791 - -
JIFILTEINTZUR BIETHSIO-))
378|N, N’ —=7OELYER (VFFHINI VER 1190 1190 1190 - -
) CHIOEEY RILTOEXRT)
B1|7OoES /70O X8V 136 58 250 444 444 - -
HEHEE : SM03EE




OREHAHIHEDHEHED N RILFMERIRFHHER
3. BHEIR (HRFE - IFNREE - RE - BEEK) HOKF (HER)

x3I—2 HEFER

(16 / 18R—30)

HRYE HEH & (kg/ 5 ; 47 1149V $RIdmg-TEQ/ ) MR L
FBHEABEHE (HEHE)

18 ML RiguE &t R
= g?é;ﬁ 32‘31%%%% REE BEE JNEF (55tHE) HEHE | HEHE
383|5—7OE—3—tAhVSY—TFIL—6—XF 2401 2401 2401 - -

V=1, 2, 3, 4—F 5SROIV -
2, 4=v#Y RETOTII)
384|1 —Z7oEFO/ Y 4302 4302 4100 8402 49% 51%
PINFHFUINNYXFITVEZYL=0OY R 127 95 141 363 0 363 0% 100%
3PNFHXFLYITIY 0 0 0 0 77% 23%
AN XFLy=UAY ST R—N 1 1 144 145 100% 0%
3N/ = —~FHY 26567 2626 260 60858 90311 57311 147622 39% 61%
395| R LA £V ZIHREEDKAME 4 4 24 28 85% 15%
WBIRvUII=s0) K BIREEXVDIL) 0 0 0 0 0% 100%
39[~xv I FE R 0 102 4783 4886 0 4886 0% 100%
400l E Y 1700 3343 294 71093 76430 1468 77898 2% 98%
401 }(,%2, 4—RYEYN)AILRVEET, 24 0 0 0 0 0% 100%
7
402|2 — (2—~y/%7‘/wwrﬂey) —N—XF 341 341 341 - -
LWFZEhT7=ZYR BIBATZzFEY )
43Ry v 0 0 10 10 100% 0%
405(1F 5 R AW 299 11 42 352 5445 5797 94% 6%
406|R ) Bk =)L (BI&PCB) 1 1 - -
47|RY) (AFSTFLY) =7ILFILI—FTI (7 10360 21911 83390 115662 755 116417 1% 99%
LEIEDOREHEN 12851 5FTOEORY
TDREMICIR D,
408 j:)li (AFYTFLY) =9 FINTzZ)LIT— 87 4811 108 5007 0 5007 0% 100%
T
409 RY (AF>PTFLY) = RTFVIIT—FIVEEE 12883 7038 20815 40736 0 40736 0% 100%
IZRFILFRYDTL
410?EU (FF¥vTFLY) =/ZT7zZIIT—F 1170 1465 212 2846 0 2846 0% 100%
MBI LTIVTE R 14449 1530 443 60002 76425 6186 82611 7% 93%
A2 VAV RV ZDEEY 12 12 2688 2700 100% 0%
A13|FK T & IVER 2 2 0 2 0% 100%
HEHREE : SM03EE




OREHAHIHEDHEHED N RILFMERIRFHHER
3. BHEIR (HRFE - IFNREE - RE - BEEK) HOKF (HER)

x3—2 HWERRH

17 / 18=R—30)

WRYE B & (ko/ 59 1449 V881Emg-TEQ/ &) WL
AR 2 (HEEHE)

18 ML RiguE &t R
5 gﬁégg 3g?§§§ . BENE N (55HE) HHE =
414K LA VB 0 0 0 0 0% 100%
415|249 9V LB 25 25 3 29 1% 89%
46| XH T YIEE2 —TFILAFIIL 1 1 0 1 0% 100%
N7 A5 YEE2, 3—TRF>FOEL 0 0 - -
MNBAE DV YNER2 — (SAFITI/) IFI 0 0 0 0 0% 100%
49X HVYIEE/ILTIL—TFI 8 8 - -
420|285 9 Y IVEEX F IV 578 158 0 736 4021 4757 85% 15%
422( (Z) =2’ = AFIVTEIIZT/ V=4, 6— 1099 1099 1099 - -

UAFI—2-EYIVZIERSYY BI&7
TYLYVY)

A23|XFIVT IV 0 0 0 - -

42T1IN—=AFIVAIARZIVEET —FTFIV (Bl&AHI 125 140 265 265 - -
NYILIENAC)

428IN =X FILAINI VB2 -2 hY T Y =T FIL 301 14 315 315 - -
ZJ2x=)b (A&7 / THILTXIEBPMC)

29| AFN=3—-s0O8—-5— (4, 6 —UAXArFY 216 216 216 - -
—2—-EYIVZIWAINEAILRILT 7EAI
) =1 =XFIESY—=IL—4—-AIKRF>S5—
b (BIE/ANORILTZOVAFI)

430|AF)= (S) —7—40O@-2, 3, 4a, 5 5 5 5 - -
—FhZeRO-2— [XbE2HILKRZL (4
—hUziFdOoxX hFoTT=IV) ANREAL
l4v7/ [1, 2—el [1, 3, 4] %%
STIV—4da—-ARFIS—b BRIV
FHAHILT)

31 AxF)=(E) —2— {2—[6— (2—=>7/ 216 216 216 - -
Jx/F%Y) EYIVV—-A—A)FFV] Tz
S} =3 —=ANFITHYS—bN (BIBRTVF
Y2 hAEY)

433IN—= X FIVSFAAINI VEE (BIZH—/N4) 150 150 150 - -

438X F L= 2— (4, 6=UARF —2-EUZ 60 60 60 - -
SZNAEY) —6—[1= (A FFSA3)
I?»]A/77—F(E%E)E Ny Y AF
U
BEEEE - D03FERE




OREHAHIHEDHEHED N RILFMERIRFHHER
3. BHEIR (HRFE - IFNREE - RE - BEEK) HOKF (HER)

x3I—2 HEFER

(18 / 18R—3)

HRME BEH B (kg/ 5587 1449 V4R IEmg-TEQ/ 5F) AL
B A B 8 (HEEHE)

18 B B a5t A B
= gﬁé;ﬁg 3F?i:%$¥¥%§%% REE BEE JNEF (55tHE) HEHE | HEHE
436[FIN T 7 —AFINRFL Y 19 19 - -
43B[XFINFTHL Y 10 1948 0 1959 5950 7909 75% 25%
440(1 = A FI—1 =T =T F)=E RORLF 0 0 0 - -

FUR
44202 =AFJ=N—=[3 = (1 =X FIThF) 80 80 80 - -
2=V RVZAFIR BEXTAZIL)
443[S =AFI=N= (XA FILALNEANFF) 496 496 496 - -
FATEMIF—b @IBXYII)
45| XF )= (E) =X bFY13/ [2— (F)L b 94 94 94 - -
—hUIAFIAFIV) Tz=V] TEI—H (
BERILYEY LXFIV)
4464, 4° —AFLVIT=Y Y 0 0 - -
MIAFLYER (4, 1=voOnFxyLy) =Y 1 1 0 1 0% 100%
AVIT7R—b
448 xa;vil:“z (4, 1=7z=LV) =Y4VY 123 123 16 139 12% 88%
Tr—
452|12 —XWAT IRV FTI I 3 3 0 3 0% 100%
453[E Y TF Y RUZDIEEY 166 166 1 167 1% 99%
45412 — (ENHRY I/ OFA) XYV FTI—) 0 0 0 - -
4B5|ENEKY v 158 158 40 198 20% 80%
456[Y AET IS =T I 110 110 110 - -
457V ATV AFI =2, 2=—YsnnE=) (Bl& 405 72 477 477 - -
Ty ONKRAXIEDDVP)
49|WABERYR (2—v00TF)) 0 0 0 - -
460|Y ABELY B YL 1 1 60 61 99% 1%
461[YABRRY 7= 40 40 0 40 0% 100%
462|Y) ABRRY — /I —TFI 0 0 0 - -
&t 387985 230613 281487 852024 1752109 3406037 5158146 66% 34%
B EE  DF03EE




